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QUESTION 1

Transaction validation on DAG-based DLTs is designed in a way that allows legitimate transactions to be considered
untrusted due to random chance.

A. True
B. False

Correct Answer: A

QUESTION 2

Quantum computers threaten traditional cryptography because they provide polynomial solutions to mathematically
"hard" problems.

A. True
B. False

Correct Answer: A

QUESTION 3

The goal of most network-based blockchain attacks is to enable what type of attack?
A. Selfish Mining Attack

B. Double-Spend Attack

C. 51% Attack

D. Long-Range Attack

Correct Answer: A

QUESTION 4

In which blockchain consensus algorithm does a user pay (give up coin forever) to participate in consensus?
A. Proof of Burn

B. Proof of Work

C. Proof of Stake

D. Proof of Activity

E. None of the above
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Correct Answer: A

QUESTION 5

Which of the following attacks only requires a single account and performs only normal blockchain operations?
A. Replay Attack

B. Routing Attack

C. 51% Attack

D. Eclipse Attack

Correct Answer: A
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